2022. 1€

=3&81H12&

E
Hr ol
ry

rie o

oM

r2ur

0
h

- 1890 Al - 2 400HA
7 FEE U
- APzl By} 9% olgy) we wedy giy)d

col o
MO
0Q
=
FO

K
12
ol
£
riot
o
N
M
gt
oX,
£
e
rH
o2

)
£

] EXES 100 ES(PM-10, PM-25, 05, SO, NO,, CO, J|A 48t=)
_1 E3™12} - 2021. 12. 1. ~ 12. 31.

a3z

] EZYSY Iy g
Q PM-10(28ug/ni) : 1%1(31@@ TR 10% 7 Ad S 2@ ndtHH] 3% 7ha
Q PM-2.5017ug/nd) = ZE08ugnd T 5% 72, 21 5L9ug/mdTB] 11% 744
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1 OFZARJEA(Sulfur Dioxide, S0, 1 Al28 €492 pD|edgx: g

O €%+ F% : 0.003ppm(0.002ppm ~ 0.00Sppm) Q PM-10 : AA@ued)’} 7F E2, 28 FG3ugnd)o] 7 =9
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- ‘ | 73'5.’(40) 28 17 0.022 0.020 0.003 0.5
‘ ) ‘ ) m L‘ FRAA(11) 26 15(%|A) 0.019 0.025 0.003 05
,,,,, Ee P W}"I"AI(4 28 19 0.018(/ &) 0.019 0.004 06
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Y YA R (CO) BEEE ) 35 (2) 25 152 X)) 0.028 0011 0.003 04
AE(1) 25 16 0.025 0.012 0.003 04
SN2 S SN RE iz mEE o oam R R gsr i T(1) 30 16 0.029 0.011 0.003 04
=== ARZ2() | 333D 20(%|0) 0.023 0.016 0.003 05
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| SSHHYI2tA XIS (comprenensive Air-quality Index, CAl
O Z

AGAAE AA - 2L 23.4%, RE 73.3%, JE 33%2 =S
ol

HE Wx7F 96.7% AHAS

MIE(%) ZE B TT SY A Yol WY AR Y4 o/ ot B DY | 5HS A B A BH

o

2 23.425.226.915.623.719.4120.026.913.331.925.317.120.936.8 25.615.918.5 15.9/44.0

HE 73.371.771.381.273.871.675.272.382.467.073.181.677.562.473.783.577.478.755.8

OEIE. 96.7/97.098.296.8 97.591.095.1 99.295.898.9 98.4 98.698.499.299.399.395.994.699.7

Lt& 3.3 3.0 1.8 3.3 259049 08 421116 1.4 16 0.8 0.8 0.7 4.1 540.3
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B EAXS(CAI BIE[%]

133

=
rL
offt
o
&
3

2

2F3.2mm) - AYL67.4mm) L

e
T
QO HFEA5ms) @ AL2ms) H AW FLa6m/s)

1 M= & 22X, 20 [HH] GRS Hlu

O PM-1028pg/nd) : =383 TR 78% <= (F-4k31, 24F29)

O PM-2.507ug/nd) : =7tk tiR] 77% = (F-4H9, =4H7)

O 2E002ppm : Z=Ew0m ThH] 0% 7 (F-410.021, 2440.024)
O o4kl A40.020ppm) : F=TEtoeD THH] 0% <7 (F-4H0.021 =4H0.021)
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PM-10 PM-2.5 03 NO2 s02 w

X AESN  SRSATC - U7 QAF BB A A(NAMIS), EE2HEHA XIEHQ HIEXIEY.

100 mAHY AT BRu ey
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2PFsE
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PM-10 PM-2.5 03 NO2 502 co

S dE gds Boss o2 dUsE | EEAT

- (mm) (¥ (m/s) O (%) (AMZh

g He2112) 32 1 1.5 4.1 56.4 213.8
¥ g1 674 2 1.2 103 64.8 205.9
HESE(20.12) 8.1 3 1.6 26 532 209.0
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AX|d " 0.003 0.020 0.022
701 8Fs O 1997. 02. 2010. 08. - 2.8 '115; 0003 0008 0019
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L 11 /25
Folg o 161 14 5
/25 P 5/25 1 94 3
152 5/ 72 10
14 3
)
2




O PM-25 ZxrEw A3 [9Y/603]]

ECL SHHL 2 | mejoa
s% wuwe wuew IS A
°xt | NZ SE@ym) YR MZ sEeym AT FF)
1 2k ol 1/15 23 93 1/16 11 31 12
2 RES Fojg 1/16 01 80 1/16 05 31 4 2
3 2y Fo|E 2/1 17 88 2/2 05 21 12
4 got Fo| 2/1 21 77 2/2 06 33 9
5 ZES Fojg 2/1 21 89 2/2 03 30 6
6 ad ol 2/1 22 80 2/2 06 31 8 4
7 L ol 2/2 01 75 2/2 06 21 5
8 &9 ol 2/2 01 80 2/2 04 31 3
9 ] Fo|g 3/29 05 86 3/29 08 205 3
10 Bl ZFo|g 3/29 06 94 3/29 08 167 2
1 2 ZFol|s 3/29 06 145 3/29 10 172 4
12 ks L 3/29 08 167 3/29 12 65 4
13 Y Fo|g 3/29 08 81 3/29 14 186 6
14 =] Fojg 3/29 08 121 3/29 M 173 3
15 ] EES 3/29 08 205 3/29 14 70 6
16 o x Fo|g 3/29 08 142 3/29 10 168 2
17 EE] Fo|g 3/29 09 115 3/29 18 31 9
18 ote Folg 3/29 09 95 3/29 24 31 15
19 R B 3/29 10 108 3/30 04 30 18
20 AR ZFo|g 3/29 10 117 3/29 14 156 4
21 aF ZFo|g 3/29 10 159 3/29 11 177 1
22 &y Fo|g 3/29 10 114 3/29 19 29 9
23 g ZFo|g 3/29 10 136 3/29 12 156 2
24 ot ZFo|g 3/29 10 186 3/29 11 212 1
25 arer S 3/29 10 172 3/29 14 70 4
26 g LS 3/29 10 168 3/29 14 60 4
27 et ZFolg 3/29 11 116 3/30 04 31 17
28 el LS 3/29 11 173 3/29 20 49 9
29 Tz LS 3/29 " 177 3/29 19 55 8 6
30 £ Folg 3/29 1 132 3/29 15 180 4
31 et L 3/29 11 212 3/29 16 71 5
32 21 H| ZFo|g 3/29 12 114 3/29 17 154 5
33 "E Fo|g 3/29 12 65 3/29 21 30 9
34 Fat Fol|e 3/29 12 111 3/30 05 27 17
35 g EES 3/29 12 156 3/29 24 65 12
36 bt} LS 3/29 14 186 3/30 02 46 12
37 AP L 3/29 14 156 3/29 20 61 6
38 A Folg 3/29 14 70 3/29 22 33 8
39 2 ZFo|s 3/29 14 70 3/29 23 31 9
40 g Fo|g 3/29 14 60 3/29 17 32 3
41 59 L 3/29 15 180 3/30 02 72 1
42 et ZFo|g 3/29 16 7 3/30 4 29 12
43 AH e 3/29 17 154 3/29 24 71 7
44 FFE Fo|g 3/29 19 55 3/29 24 32 5
45 Bl Fo|g 3/29 20 49 3/30 02 32 6
46 Ab ETEY 3/29 20 61 3/30 03 32 7
47 e Fog 3/29 24 65 3/30 02 34 2
48 HH| Folg 3/29 24 71 3/30 06 22 6
49 a4y Fo|E 3/30 02 46 3/30 04 26 2
50 £ B 3/30 02 72 3/30 06 29 4
51 2k Fo|E 5/7 20 94 5/7 24 157 4
52 K Fo|g 5/7 21 86 5/8 14 29 17
53 ] Folg 5/7 22 95 5/9 6 24 32
54 el Fo|E 5/7 23 79 5/9 7 34 32
55 arer S 5/7 24 157 5/8 12 29 12
56 5 B 5/8 1 86 5/9 5 34 28 9
57 ot ZFo|g 5/8 1 103 5/9 5 33 28
58 HH Folg 5/8 10 79 5/9 7 31 21
59 Tz FolE 5/8 10 81 5/9 5 34 19
60 AL Fo|g 5/8 11 78 5/9 6 32 19

O & ZARYE I [15¢/413]]
HEE L S K| L] ES HE2{O] A
aix wmAY wwEA ff, "ii(y T AHI i thiwm il ek

Z S Z S =
1 it Fol|= 5/14 13A] 0.120 5/14 14A| 0.108 1
2 el Fo|E 5/14 144| 0.124 5/14 154 0.102 1 1
3 £ Fole 5/14 15A] 0.126 5/14 1641 0.098 1
4 StE Fol|s 5/23 14A| 0.125 5/23 174l 0.082 3
5 paE:] Fols 5/23 174 0.142 5/23 204 0.104 3
6 oy Fo| 5/23 184 0.135 5/23 194 0.092 1 2
7 g Fojg 5/23 194| 0.140 5/23 204 0.119 1
8 AP Fo|g 5/31 144 0.147 5/31 16A| 0.106 2
9 e Fo|g 5/31 15A] 0.129 5/31 1641 0.112 1 3
10 Ab Fo|e 5/31 174l 0.138 5/31 194 0.111 2
1 R Fo|e 6/1 164l 0.120 6/1 174 0.108 1 4
12 figs} Fol 6/2 174l 0.129 6/2 184 0.117 1
13 g Fojg 6/2 194] 0.122 6/2 20A| 0.081 1 >
14 Bl Fols 6/7 11A] 0.135 6/7 14A] 0.091 3
15 e Fo|g 6/7 13A] 0.133 6/7 164| 0.118 3
16 ElE] Fojg 6/7 164l 0.132 6/7 194 0.113 3 6
17 AH Fojg 6/7 174l 0.134 6/7 194] 0.112 2
18 o Fols 6/7 19A] 0.124 6/7 204 0.119 1
19 A Fole 6/8 13A] 0.129 6/8 194 0.103 6
20 it Fol|s 6/8 14A] 0.124 6/8 17A| 0.116 3
21 EE) Fojg 6/8 15A] 0.126 6/8 19A] 0.108 4 7
22 g4 Fols 6/8 1741 0.122 6/8 19A] 0.116 2
23 L] Fol|e 6/9 1241 0.133 6/9 174 0.113 5
24 HUAG P For 6/9 14A] 0.123 6/9 164| 0.093 2
25 R Fojg 6/9 1541 0.127 6/9 18A| 0.113 3 8
26 4 ol 6/9 174l 0.121 6/9 194 0.108 2
27 ER Fo|g 6/10 14A] 0.124 6/10 15A] 0.081 1 9
28 St& Folg 6/19 1541 0.122 6/19 16A| 0.104 1 10
29 st& Fole 6/20 1241 0.143 6/20 144| 0.103 2
30 AR Fojg 6/20 15A] 0.154 6/20 174 0.109 2
31 o/ Fol 6/20 164l 0.130 6/20 174 0.110 1 n
32 o Fo|e 6/20 174 0.136 6/20 184 0.118 1
33 At Fole 6/21 164] 0.129 6/21 20A| 0.099 4 12
34 st& Fole 7/30 1241 0.122 7/30 134A] 0.105 1
35 g Fols 7/30 15A] 0.131 7/30 1641 0.109 1 13
36 Y HY  Fom 8/6 154A] 0.123 8/6 16A| 0.099 1
37 g FoE 8/6 164l 0.124 8/6 174l 0.096 1 14
38 el Fole 8/26 134 0.121 8/26 144| 0.079 1
39 S Fols 8/26 1641 0.136 8/26 184 0.094 2
40 A Fol|s 8/26 1641 0.155 8/26 184 0.105 2 15
41 oy Fol|e 8/26 184 0.125 8/26 194 0.087 1
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| 2342/ a3 WIIRYE20214)
EH A

AIE“ (_4‘032)‘ SO, NO; O3 CcO PM-10 PM-2.5

ZEX|Y dEgw 0.003 0.014 0.033 0.4 30 15

q4Fs 0.003 0018 0.033 04 27 14

PEETES 0.004 0.016 0.032 04 25 12

YN 0.003 0.019 0.033 0.5 31 17

s 0.003 0.016 0.029 04 28 14

AHIHE 0.003 0.016 0.033 05 27 14

X9 0.004 0.022 0.032 04 34 18

o= 0.003 0.016 0.036 05 30 14

0.003 0.010 0.031 0.4 24 13

0.003 0.019 0.034 0.4 28 14

0.003 0.017 0.031 0.4 33 18

F 0.003 0.019 0.027 0.4 30 14

Ha 0.003 0017 0.032 0.4 29 15

tfors 0.003 0.014 0.031 0.5 29 15

H=o 0.003 0.013 0.028 0.5 30 17

NES s 0.005 0.014 0.029 0.4 31 16

NES 0.003 0.014 0.029 0.5 28 15

,,,,, Ha 0.003 0.014 0.029 05 30 16

=8| fds 0.003 0.014 0.039 03 30 13

AEE 0.004 0.012 0.037 04 29 14

AL SEE 0.003 0.008 0.039 0.4 29 14

g 0.003 0.010 0.038 0.4 29 14

S4E 0.003 0.014 0.034 05 33 16

Nt 0.003 0.014 0.034 03 32 12

2154 85 0.004 0.024 0.032 0.4 29 17

g 0.003 0.017 0.033 0.4 40 18

,,,,, defith =2 0.004 0.027 0.024 0.4 27 17

Ha 0.003 0.018 0.033 04 33 16

ER S 0.004 0013 0.033 03 33 16

ik 0.003 0.009 0.036 0.4 26 13

2| otF& 0.003 0.010 0.038 0.5 29 14

Ha 0.003 0.010 0.037 05 27 13

S8E 0.004 0.021 0.031 0.5 32 16

orap | HESE 0.003 0.015 0.032 0.5 34 18

e £25 0.003 0.014 0.035 0.5 31 18

Ha 0.003 0.016 0.033 05 32 17

ol oJHS 0.003 0.008 0.031 03 27 14

sot | Jtoks 0.003 0.011 0.031 0.4 31 18

o Hag 0.003 0.013 0.032 0.4 30 18

g | Adg 0.003 0.011 0.035 0.4 32 16

=olf gsig 0.003 0.008 0.036 0.4 30 15

Sse 0.003 0.008 0.037 0.4 31 15

sts | =AME 0.003 0.009 0.035 0.4 21 13

g 0.003 0.009 0.037 04 29 15

A AES 0.003 0.009 0.036 03 27 15

atef g 0.002 0.009 0.034 03 28 16

HE | AES 0.002 0.011 0.031 03 31 17

g SHg 0.003 0.011 0.035 03 30 15

16507l 0.004 0.020 0.028 0.5 45 25

A 7ER07HY 0.004 0.019 0.034 0.5 43 23

| 18dR7id 0.004 0.018 0.031 0.4 42 20

2 | 19433l 0.003 0.017 0.032 0.4 38 19

201938711 0.003 0.014 0.033 0.4 29 16

W28 X+=8 H=+(20214)

EX A
Nz T3 PM-10 PM-25 03
g | 25 | uUB |HeuE| g | 25 | UB |HeuE| I8 | HE | U2 oy
e
0~30 31~80 81~150 151~600 0~15 16~35 36~75 76~500 0~0.03 |0.031~0.09(0.091~0.15( 0.151~0.6
e 202 | 83 2 2 184 | 99 3 1 13 | 270 6 -
dats 152 | 122 3 2 130 | 142 6 1 8 261 7 -
YN E 171 | 106 1 2 144 | 131 6 1 9 268 4 -
SoE 236 | 119 1 2 229 | 121 3 1 8 331 22 -
AHIHE 268 | 92 1 2 227 | 126 4 1 9 341 10 -
Xt SHE 206 | 141 6 2 174 | 165 | 11 1 14 | 338 7 -
e 88X & 251 | 100 1 2 216 | 134 5 1 38 | 321 2 -
LA S 254 | 97 1 2 228 | 123 2 1 14 | 326 | 19 -
295 292 | 62 1 2 254 | 100 3 - 15 | 338 9 -
I 275 | 75 1 2 267 | 80 2 1 32 | 321 8 -
HE = 234 | 117 2 2 216 | 135 2 1 32 | 326 3 -
gz 257 | 105 1 2 221 | 140 3 1 4 326 | 35 -
ofots 87 49 - - 83 59 1 - 2 217 1 -
gEH 241 106 5 2 203 | 144 4 1 17 333 11 -
x| s 172 | 98 3 2 153 | 116 6 - 10 | 263 2 -
883 238 | 114 4 2 183 | 163 8 1 18 | 325 | 18 -
,,,,, "z 256 | 103 4 2 207 | 153 4 1 6 340 | 19 -
=9 s 251 95 5 3 253 | 95 3 1 6 336 | 19 -
AR S 241 | 107 3 2 236 | 116 3 - 6 325 | 29 1
AP SEs 261 | 88 5 3 235 | 117 4 1 9 327 | 25 -
"z 259 | 99 4 2 243 | 117 3 1 4 319 | 41 1
EME 220 | 130 5 2 203 | 129 | 13 1 22 | 322 | 19 -
HurE 220 | 131 2 2 268 | 85 2 1 1 347 3 -
2180 B 235 | 116 1 2 183 | 166 6 1 16 | 325 | 20 -
s 134 | 207 | 14 2 161 | 180 | 16 - 9 310 | 36 -
4shchz2 79 42 - - 62 54 5 - 11 109 1 -
Ha 210 | 149 4 2 210 | 147 7 1 1 319 | 45 -
212 | 137 6 2 207 | 137 | 10 - 5 329 | 25 -
235 | 89 2 2 219 | 103 2 1 16 | 320 4 -
276 | 74 3 3 251 | 101 2 1 15 | 343 4 -
279 | 79 3 3 258 | 102 3 1 10 | 347 7 -
177 | 99 3 2 162 | 118 3 1 7 266 | 13 -
198 | 146 4 2 145 | 201 9 1 7 338 | 16 -
234 | 119 1 2 163 | 179 | 14 - 5 330 | 28 -
229 | 130 3 2 173 | 185 5 1 2 331 32 -
oy g 258 | 91 2 2 231 | 120 3 - 15 | 331 15 -
ahot 7toks 215 | 140 2 1 159 | 186 | 12 1 13 ] 337 | 1 -
g ¥Eg 227 | 124 3 2 165 | 178 | 13 - 9 337 | 15 -
Ins| InPsE= 230 | 123 3 2 222 | 128 6 1 6 347 | 10 -
Eil golls 241 | 108 6 2 230 | 124 2 2 8 344 10 -
Stes 214 | 134 4 2 160 | 113 4 6 330 | 24 1
sls | =48 97 23 - - 78 42 - - - 118 2 -
Ha 230 | 121 4 2 171 | 115 3 - 5 332 | 25 1
s AES 269 83 2 2 224 | 130 1 1 5 336 18 2
o | S 260 | 87 7 2 200 | 141 10 2 8 346 9 -
HE | AHES 229 | 124 3 2 181 | 161 14 - 11 | 345 7 -
o SHg 178 | 82 1 2 174 | 118 2 - 5 269 | 20 -
TN E 251 110 2 2 219 | 140 5 1 289 73 3
X 0; = 1AMZHEZ X EE, PM-10, PM-25= 24A2 B3 sk HE




